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Applications of Standard to Slope-Tntercept Form

L Youarein for a party. You
‘The hamburger costs $2 per pound and chicken is $3 per pound.

presents the different £ hamby and chicken, y,

that you can buy.

b. Rewrite the equation into slope-intercept form.

<. Graph the function.

. 1f you buy 15 pounds of hamburger, how many pounds of chicken can you buy?

. Tist three different combinations of hamburgers and chickens you can bus.
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- The formula P = 2L 1 27 ielsthe peikir of 2 packagem)
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b) What s the length of a package that has a perimeter of 20 em 3d a width of 57
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2 You aebuying $43worth of v sed tat conssts o twotypesof e, O yp s i
15 54 per pou other type is a higher-quality sced that

that represents the different amounts of $4 seed, 3, and 6 seed. y.

b. Rewrite the equation into slope-intercept form.

. Graph the function.

d. 1f you buy 3 pounds of $4 seed, how
‘many pounds $6 seed can you buy?

. Listthree different combinations of seed combinations.
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Identity the property of equality that justifies sach missing st or squation in 2ach of he
folowing tables.

Steps
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GSE Algebral Unit 24 Notes
Name: Date:

Solving Systems by Graphing

Steps.
Make sure cach equation is in siope-intercapt form y - mx + b
Graph each equation on he same oraph paper.
The point where the lines infersect s the solufion.
If they don’finfersect Ihen There's no solufion.
4. Check your solution algebraically!

SpEd
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Solving Systems by Substitution

Steps

1. One equation will have either x or y by iiself. or can be solved for x or y
easil

2. Substitule the expression from Step 1 into the other equation and solve:
for the other variable.

3. Substitute the value from Step 2 into the equation from Step 1 and solve.

4. Your solufion is he ordered pair formed by x & y.

5. Chack fhe solufion in each of the original equations.

|t y=x-1
Sxs7y-20 x+y=3

x=sy+a o By
" axiisy=-1 x=-dyi8

;. x=5y110 5 20 dy= 24
2-10y=20 x+éy=18
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(25)

é ‘-gﬂ safifions:
e ines have Ihe some yintercep! b, and the same siope m, Ihen he system has

. ihe

ies have the same slope m, but different y-infercepts b, the system has

« lfine lines have different slopes m, the system has
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Solving Systems by Elimination

“Amange the equations wifh like ferms in columrs.
Mulliply, if necessary. lo creale opposite coefficients for one variable.
Add/Subtract the equations.

subsfifute the value to soive for the ofher variable.

Write your answer as an ordered pa.

Check your answer.

1=
P

BN PSP

Axe3y=16
2x-3y-8

2.

Sxeoy-7
ey =5

5, Sxey=7 6 ey =1
~axry=-16 4x-2y=10
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January 24, 2019, Thursday Soly e each system by graphing.

1

Solve each system by substitution.

2) -3x-2
sy

Solve each system by elimination.

4) Do you like

a) graphing

b) substitution or
c) elimination?
Why?
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GSE Algebral Unit 24 Systems Practice

Name: Dale:

1. Defermine if (2, 1) is a solution fo the following systems: Answer yes or no!

x-p-1
Vaviy--s

. For 3~ 6, solve each system graphically. Write your solution in the blank provided.
Check each solufion.

1
—x+3
2

x4
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IV. Solve each linear system using el

noaxey=1
x+y=9

. Solve each linear system using substitution.
—x+d
7)

ENEEY

8
Txt2y=1

2xiy=19

gy
2043y=5
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Find the error and solve the problem correctly.
15)
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January 25, 2019, Friday

Your choice: Solve each system by graphing, substitution or elimination.
1) 4x+4y=4 2) y=3x-14

x—6y=15 y=5x-24
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Name: Date:
Systems of Linear Equations - Word Problems

5-Step Method:
1. Define varidbles

2. wile the system of equafions

3. Solve showing al steps

4. Check your answer

5. slale your solulion in senfence form

1. You sell fickes for admission 1o your school play and collect a fofal of $104. Admission
prices are §6 for adults and 34 for chilcren. You sold 21 fickets. How many adultfickets and
how many chilcren fickets aid you sell?

2. Your lamiy goes fo a restaurant for dinner. There are & people i your family. Some order
The chicken dinner for $14.80 and some order Ihe steak dinner for §17. If the fofal bil was $971.
how many people ordered each fype of dinners

3. You bought the meat for Salurday’s cookout. A package of hot dogs cos! §1.40 and a
package of hamburger cos! $5. You bought a folal of & packages of meal and you spent
$23. How many packages of hamburger meat did you buye

sz Agsbrat uitza [—

4. Case: 3 and 2 orders of for a total of §29.50.
pizzas and 3 orders of breadsficks for a fofal of $23. How much does a pirza coste

5. Renl-ACar renls compact cars lor a fixed amount per day plus a fixed amount for each
mile civen. Benilo rented a car for 6 days, drove if 550 miles, and spent $337. Lisa rented he
same car for 3 days, drove It 350 miles, and spend $185. WhatIs the charge per day and the
charge per mile for fhe compact car?

6. Boach Hotelin Cancun s offering wo weekend specials. One includes o 2-night stay with 3
meals and cost $195. e olner nclucies o -nightstay wilh 5 meals and cos! $300. What s the
costof asingle meolz

Jan 17-2:19 PM

Jan 17-2:20 PM

Jan 18-2:14 PM



	Page 1
	Page 2
	Page 3

